N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy [N of associated (recoTosim) looper tracks vs dxy

(%] %] %] F
x < B4
3 g g
£10 Si0° £10
3 g g
= 8 8
10* 810
3
10*
10° 10
10°
10? 10
10?
A 10 10 :
oV . DOM_Y 'Uool_muuuuouu_bloba __MKFItNew Tme__|
I : DQM_V0001_R000000001__Global _mkFitOLD-checkDet__RECO
o . 0 0 0 24 0 0 2 [
4 B | B
0995-20-15-10 -5 0 5 10 15 20 25 0995720-15-10 =5 0 5 10 15 20 25 099550-15-10 -5 0 5 10 15 20 25 05 =50-15-10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F ¢ ¢ F
8 s & g
=0°F =10° £
E [ Q
F 2 ]
I = Qo
10k =
E S
F o
T L T T LT I (e R T E EE LR LR LRI EECEE R E 1
102 Ee-e-ne- B 10
] .
10f- -t e et 1
1 e LT T TS PR — -
orud) TE o | T
g g
o @
18- 1- TH ettty - - ---4 A -1 e - cf - 1 - e - 4 - - B ol 11 1117111
O¥e 20 10 0 10 20 30 0¥ 20 -10 0 10 20 30 0¥ 20 10 0 10 20 30 °¥e =20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


